IFB 2018-260 Signs, Sign Materials, & Barriers

				US Standar	d Sign (Mandel	andel Nippon Carbide Industries		AVERY DENNISON		Osburn Associates Inc		Vulcan Inc., dba Vulcan		Eagle Barri	cade, LLC
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
1	SECTION 1 - PREFABRICATED SIGNS: Octagonal 30 in. x 30 in.	200	each	No Bid		No Bid		No Bid		\$36.75	\$7,350.00	\$27.55	\$5,510.00	\$64.80	\$12,960.00
2	SECTION 1 - PREFABRICATED SIGNS: S.D.H.P.T., 24 in. x 48 in.	200	each	No Bid		No Bid		No Bid		\$47.04	\$9,408.00	\$37.17	\$7,434.00	\$135.65	\$27,130.00
3	SECTION 1 - PREFABRICATED SIGNS: S.D.H.P.T., 30 in. x 24 in.	200	each	No Bid		No Bid		No Bid		\$29.40	\$5,880.00	\$23.24	\$4,648.00	\$45.80	\$9,160.00
4	SECTION 1 - PREFABRICATED SIGNS: S.D.H.P.T., 36 in. x 36 in.	50	each	No Bid		No Bid		No Bid		\$52.92	\$2,646.00	\$41.82	\$2,091.00	\$82.30	\$4,115.00
5	SECTION 1 - PREFABRICATED SIGNS: S.D.H.P.T., 12 in. x 18 in.	50	each	No Bid		No Bid		No Bid		\$8.82	\$441.00	\$7.32	\$366.00	\$15.60	\$780.00
6	SECTION 1 - PREFABRICATED SIGNS: S.D.H.P.T., 18 in. x 18 in.	100	each	No Bid		No Bid		No Bid		\$13.23	\$1,323.00	\$10.92	\$1,092.00	\$28.38	\$2,838.00
7	SECTION 1 - PREFABRICATED SIGNS: S.D.H.P.T., 12 in. x 12 in.														
	HANDICAPPED SYMBOL	1	each	No Bid		No Bid		No Bid		\$5.88	\$5.88	\$5.89	\$5.89	\$15.60	\$15.60
8	SECTION 1 - PREFABRICATED SIGNS: BUSES ONLY, 18 in. x 24 in.	1	each	No Bid		No Bid		No Bid		\$17.64	\$17.64	\$13.95	\$13.95	\$28.38	\$28.38
9	SECTION 1 - PREFABRICATED SIGNS: ENTRANCE ONLY, 24 in. x 24 in.	1	each	No Bid		No Bid		No Bid		\$23.52	\$23.52	\$18.58	\$18.58	\$35.38	\$35.38
	SECTION 1 - PREFABRICATED SIGNS: Percentage off on any similar items	5													
10	required by Collin County not specifically addressed in SECTION 1.	1		No Bid		No Bid		No Bid		0		No Bid		0	
	SECTION 1 TOTAL	:								\$235.20	\$27,095.04	\$186.44	\$21,179.42	\$451.89	\$57,062.36
		•								<i><i></i></i>	<i>\\\\\\\\\\\\\</i>	<i>Q</i>	<i>v</i> ==)=/ <i>v</i> ==	<i>ϕ</i> .02.00	<i>\$57,662.66</i>
				US Standar	d Sign (Mandel	Nippon Carb	ide Industries	AVERY	DENNISON	Osburn Ass	ociates Inc	Vulcan Inc.,	dba Vulcan	Eagle Barri	cade. LLC
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
	SECTION 2 - SPECIAL SIGNS: NO DUMPING - BY ORDER OF				•							L		• • • • •	
11	COMMISSIONERS' COURT, 18 in. x 24 in.	50	each	No Bid		No Bid		No Bid		\$17.64	\$882.00	\$16.30	\$815.00	\$28.38	\$1,419.00
	SECTION 2 - SPECIAL SIGNS: COLLIN COUNTY MAINTENANCE SIGNS - 30														
12	in. x 24 in.	1	each	No Bid		No Bid		No Bid		\$29.40	\$29.40	\$34.32	\$34.32	\$45.82	\$45.82
12	SECTION 2 - SPECIAL SIGNS: HANDICAPPED PARKING SIGNS, 12 in. x 18														
13	in.	1	each	No Bid		No Bid		No Bid		\$8.82	\$8.82	\$10.66	\$10.66	\$20.60	\$20.60
14	SECTION 2 - SPECIAL SIGNS: HANDICAPPED PARKING SIGNS, 18 in. x 24														
14	in.	1	each	No Bid		No Bid		No Bid		\$17.64	\$17.64	\$20.60	\$20.60	\$28.38	\$28.38
15	SECTION 2 - SPECIAL SIGNS: Temporary Roll-Up Sign, 36" with vinyl														
15	pockets, DAYBrite Orange, Velcro straps	100	each	No Bid		No Bid		No Bid		\$85.81	\$8,581.00	\$34.70	\$3,470.00	\$81.49	\$8,149.00
16	SECTION 2 - SPECIAL SIGNS: Custom Legend Temporary Roll-Up Sign,														
	36" with vinyl pockets, DAYBrite Orange, Velcro straps	100	each	No Bid		No Bid		No Bid		\$125.81	\$12,581.00	\$34.85	\$3,485.00	\$119.00	\$11,900.00
17	SECTION 2 - SPECIAL SIGNS: Mesh Sign Ribs, 36", fiberglass	100	each	No Bid		No Bid		No Bid		\$45.82	\$4,582.00	\$36.47	\$3,647.00	\$13.49	\$1,349.00
18	SECTION 2 - SPECIAL SIGNS: Sign Stand, galvanized steel, folding,														
10	telescoping legs - Length - 71 in, Width - 30 x 44 in, Weight 23 lb	100	each	No Bid		No Bid		No Bid		\$97.71	\$9,771.00	\$104.59	\$10,459.00	\$128.70	\$12,870.00
19	SECTION 2 - SPECIAL SIGNS: Percentage off on any similar items														
19	required by Collin County not specifically addressed in SECTION 2.	1		No Bid		No Bid		No Bid		0		No Bid		0	
	SECTION 2 TOTAL									\$428.65	\$36,452.86	\$292.49	\$21,941.58	\$465.86	\$35,781.80
			1		d Sign (Mandel		ide Industries	-	DENNISON	Osburn Ass		Vulcan Inc., o		Eagle Barri	-
	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
-	SECTION 3 - SIGN FACES: S.D.H.P.T., 30 in. x 30 in.	200	each	No Bid		No Bid		No Bid		\$8.63	\$1,726.00	\$9.25	\$1,850.00	\$64.80	\$12,960.00
	SECTION 3 - SIGN FACES: S.D.H.P.T., 24 in. x 48 in.	50	each	No Bid		No Bid		No Bid		\$11.04	\$552.00	\$11.84	\$592.00	\$135.65	\$6,782.50
	SECTION 3 - SIGN FACES: S.D.H.P.T., 18 in. x 24 in.	50	each	No Bid		No Bid		No Bid		\$4.14	\$207.00	\$4.44	\$222.00	\$28.38	\$1,419.00
	SECTION 3 - SIGN FACES: S.D.H.P.T., 18 in. x 18 in.	50	each	No Bid		No Bid		No Bid		\$3.11	\$155.50	\$3.33	\$166.50	\$28.38	\$1,419.00
24	SECTION 3 - SIGN FACES: Black border, 30 in. x 30 in. (Blank Face)	50	each	No Bid		No Bid		No Bid		\$8.63	\$431.50	\$9.25	\$462.50	\$64.80	\$3,240.00

	SECTION 3 - SIGN FACES: Percentage off on any similar items required														
25	by Collin County not specifically addressed in SECTION 3	1		No Bid		No Bid		No Bid		0		No Bid		0	
	SECTION 3 TOTAL	:								\$35.55	\$3,072.00	\$38.11	\$3,293.00	\$322.01	\$25,820.50
				US Standard	Sign (Mandel	Nippon Cark	oide Industries	AVERY	DENNISON	Osburn Ass	ociates Inc	Vulcan Inc.	, dba Vulcan	Eagle Barı	ricade, LLC
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
26	SECTION 4 - ANODIZED ALUMINUM BLANKS: 18 in. x 18 in.	100	each	\$6.12	\$612.00	No Bid		No Bid		\$7.61	\$761.00	\$6.28	\$628.00	\$28.38	\$2,838.00
27	SECTION 4 - ANODIZED ALUMINUM BLANKS: 30 in. x 30 in.	300	each	\$17.03	\$5,109.00	No Bid		No Bid		\$21.13	\$6,339.00	\$16.62	\$4,986.00	\$64.80	\$19,440.00
28	SECTION 4 - ANODIZED ALUMINUM BLANKS: 18 in. x 24 in.	200	each	\$8.17	\$1,634.00	No Bid		No Bid		\$10.14	\$2,028.00	\$8.06	\$1,612.00	\$28.38	\$5,676.00
29	SECTION 4 - ANODIZED ALUMINUM BLANKS: 24 in. x 30 in.	200	each	\$13.64	\$2,728.00	No Bid		No Bid		\$16.90	\$3 <i>,</i> 380.00	\$13.31	\$2,662.00	\$45.82	\$9,164.00
30	SECTION 4 - ANODIZED ALUMINUM BLANKS: 24 in. x 48 in.	200	each	\$21.81	\$4,362.00	No Bid		No Bid		\$27.04	\$5 <i>,</i> 408.00	\$21.47	\$4,294.00	\$135.65	\$27,130.00
31	SECTION 4 - ANODIZED ALUMINUM BLANKS: 36 in. x 36 in.	50	each	\$24.55	\$1,227.50	No Bid		No Bid		\$30.42	\$1 <i>,</i> 521.00	\$24.46	\$1,223.00	\$71.99	\$3,599.50
32	SECTION 4 - ANODIZED ALUMINUM BLANKS: Extruded blanks, 9 in. x 30														
52	in.	400	each	\$8.97	\$3,588.00	No Bid		No Bid		\$13.58	\$5 <i>,</i> 432.00	\$7.24	\$2,896.00	No Bid	
22	SECTION 4 - ANODIZED ALUMINUM BLANKS: Extruded blanks, 9 in. x 36														
	in.	50	each	\$10.78	\$539.00	No Bid		No Bid		\$16.29	\$814.50	\$8.67	\$433.50	No Bid	
	SECTION 4 - ANODIZED ALUMINUM BLANKS:Percentage off on any														
	similar items required by Collin County not specifically addressed in														
	SECTION 4	1		0		No Bid		No Bid		0		No Bid		0	
	SECTION 4 TOTAL			\$111.07	\$19,799.50					\$143.11	\$25 <i>,</i> 683.50	\$106.11	\$18,734.50	\$375.02	\$67,847.50
				US Standard	Sign (Mandel	Nippon Carb	oide Industries	AVERY	DENNISON	Osburn Ass	ociates Inc	Vulcan Inc.	, dba Vulcan	Eagle Barı	ricade, LLC
	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
35	SECTION 5 - VERTICAL ROAD MARKERS: Carsonite sign posts or Collin														
	County approved equal	500	each	No Bid		No Bid		No Bid		No Bid		\$11.50	\$5,750.00	No Bid	
36	SECTION 5 - VERTICAL ROAD MARKERS: 2-sided Carsonite sign posts or														
	Collin County approved equal	500	each	No Bid		No Bid		No Bid		No Bid		\$11.85	\$5,925.00	No Bid	
27	SECTION 5 - VERTICAL ROAD MARKERS: Percentage off on any similar														
57	items required by Collin County not specifically addressed in SECTION 5	-		No Bid		No Bid		No Bid		0		No Bid		0	
	SECTION 5 TOTAL	:										\$23.35	\$11,675.00		
Notes:	Vulcan Inc line 35 and 36 - VS driveable composite marker w/E0	GP 3"x1	12" one side	e											
				US Standard	Sign (Mandel	Nippon Cark	oide Industries	AVERY	DENNISON	Osburn Ass	ociates Inc	Vulcan Inc.	, dba Vulcan	Eagle Barı	ricade, LLC
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
38	SECTION 6 - VERTICAL RECREATIONAL MARKERS/SIGNS: Recreational														
30	Marker	1	each	No Bid		No Bid		No Bid		No Bid	\$0.00	No Bid		No Bid	
39	SECTION 6 - VERTICAL RECREATIONAL MARKERS/SIGNS: Carsonite sign														
	posts or Collin County Approved Equal	1	each	No Bid		No Bid		No Bid		No Bid	\$0.00	No Bid		No Bid	
	SECTION 6 - VERTICAL RECREATIONAL MARKERS/SIGNS: Percentage off														
40	on any similar items required by Collin County not specifically														
10	addrassed in SECTION 6	1		No Bid		No Bid		No Bid		0		No Bid		0	
10	addressed in SECTION 6														
10	SECTION 6: NO AWARD														
10															
10				US Standard	Sign (Mandel	Nippon Cark	oide Industries	AVERY	DENNISON	Osburn Ass	ociates Inc	Vulcan Inc.,	, dba Vulcan	Eagle Barı	ricade, LLC

41	SECTION 7 - FLEXIBLE DELINEATORS: Long, white delineator posts, 3 in. wide x 48 in. long	1	each	No Bid		No Bid		No Bid		No Bid	\$0.00	\$36.46	\$36.46	No Bid	
42	SECTION 7 - FLEXIBLE DELINEATORS: Percentage off on any similar	-	each			NO DIU		NO DIG			Ş0.00	9 50. 4 0			
42	items required by Collin County not specifically addressed in SECTION 7	-		No Bid		No Bid		No Bid		0		No Bid		0	
	SECTION 7 TOTAL	:										\$36.46	\$36.46		
				US Standard	Sign (Mandel	Nippon Carbio	de Industries	AVERY DI	ENNISON	Osburn Ass	ociates Inc	Vulcan Inc.,	dba Vulcan	Eagle Barri	cade, LLC
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
43	SECTION 8 - REFLECTIVE COLLIN COUNTY ROAD SIGN FACES: Collin														
43	County Road Sign Face 9 in. x 30 in.	600	each	No Bid		No Bid		No Bid		\$2.59	\$1,554.00	\$6.21	\$3,726.00	\$64.80	\$38,880.00
4.4	SECTION 8 - REFLECTIVE COLLIN COUNTY ROAD SIGN FACES: Collin														
44	County Road Sign Face 9 in. x 36 in.	50	each	No Bid		No Bid		No Bid		\$3.11	\$155.50	\$7.43	\$371.50	\$71.99	\$3,599.50
	SECTION 8 - REFLECTIVE COLLIN COUNTY ROAD SIGN FACES: Percentage	Ę													
45	off on any similar items required by Collin County not specifically														
	addressed in SECTION 8	1		No Bid		No Bid		No Bid		0		No Bid		0	
	SECTION 8 TOTAL	:								\$5.70	\$1,709.50	\$13.64	\$4,097.50	\$136.79	\$42,479.50
1.1	Description	OTV			Sign (Mandel	Nippon Carbio		AVERY DI		Osburn Ass		Vulcan Inc.,		Eagle Barric	
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
46	SECTION 9 - BARRICADES: Signs, Barricade Sheeting, Rolls of 6 in. x 50	1		No Did		ć71.0F	ć71 or	¢120.00	¢120.00	¢110.50	Ć110 F0	¢90.04	¢90.04	\$304.50	\$304.50
	γd.	1	each	No Bid		\$71.25	\$71.25	\$120.00	\$120.00	\$118.50	\$118.50	\$80.94	\$80.94	\$304.50 (Twice the lengt	
														\$304.50/2 =	
	SECTION 9 - BARRICADES: Signs, Barricade Sheeting, Rolls of 8 in. x 50													J304.30/2 -	· \$152.25)
47	yds	1	each	No Bid		\$95.00	\$95.00	\$160.00	\$160.00	\$158.00	\$158.00	\$96.74	\$96.74	\$304.50	\$304.50
		-						+	+	7	7	+••••		(Twice the lengt	
														\$304.50/2 =	\$152.25)
40	SECTION 9 - BARRICADES: Signs, Folded Barricade, Sheeting, 37 in. x 36														
48	in.	1	each	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	
49	SECTION 9 - BARRICADES: Barricade A-Frame I Beam Board 96 in. (8 ft.),														
49	Plasticade EGB or Collin County approved equal.	1	each	No Bid		No Bid		No Bid		No Bid		\$75.53	\$75.53	\$71.10	\$71.10
	SECTION 9 - BARRICADES: Type II Plasticade white barricade or Collin														
50	County approved equal, 25 in. x 45 in. HIP grade striped sheeting, top														
	panel 12 in. x 24 in, bottom panel 8 in. x 24 in.	100	each	No Bid		No Bid		No Bid		No Bid		\$77.75	\$7,775.00	\$65.25	\$6,525.00
	SECTION 9 - BARRICADES: Type II Plasticade Combocade barricade or														
51	Collin County approved equal. Steel Legs with 8 in. x 24 in. top and														
	bottom, HIP	100	each	No Bid		No Bid		No Bid		No Bid		\$54.02	\$5,402.00	\$54.00	\$5,400.00
	SECTION 9 - BARRICADES: Omni A-Frame barricade legs or Collin County	/													
52	approved equal. 40 in. high x 28.6 in. wide, 6 lb. Must be compatible											40- 4-	t =	40.0	47.040.00
	with I-beam barricade boards.	200	each	No Bid		No Bid		No Bid		No Bid		\$37.17	\$7,434.00	\$26.55	\$5,310.00
	SECTION O PARRICADES: Disctigade A Frame barriande large of Callin														
53	SECTION 9 - BARRICADES: Plasticade A-Frame barricade legs or Collin														
	County approved equal. Must have capability to fill with sand and be	200	a a a b	No Did		No Did		No Did		No Did		624.40	¢c 90c 00	62C 55	¢5,210,00
	compatible with I-beam barricade boards. 42 in. high x 28 in. wide, 5 lb.		each	No Bid		No Bid		No Bid		No Bid		\$34.48	\$6,896.00	\$26.55	\$5,310.00
54	SECTION 9 - BARRICADES: Type III 10 foot barricade, 10 gauge steel legs 3 2-sided boards, HIP	, 20	oach	No Rid		No Rid		No Bid		No Rid		No Rid		\$257.25	\$5 14E 00
1	S 2-SIUCU DUdi US, FIIF	20	each	No Bid		No Bid		NO BIU		No Bid	ļ	No Bid	ļ	ŞZ57.25	\$5,145.00

55	SECTION 9 - BARRICADES: Traffic Cone 28 in., 7#, wide body with reflective collars, HIP	100	each	No Bid	No Bid		No Bid		No Bid		\$14.86	\$1,486.00	\$17.25	\$1,725.00
F.C.	SECTION 9 - BARRICADES: Traffic Drum, 8#, wide body with rubber													
50	base, five-tier design, HIP	40	each	No Bid	No Bid		No Bid		No Bid		\$55.58	\$2,223.20	\$69.00	\$2,760.00
	SECTION 9 - BARRICADES: Percentage off on any similar items required													
57	by Collin County not specifically addressed in SECTION 9	1		No Bid	No Bid		No Bid		0		No Bid			
	SECTION 9 TOTAL (excluding line 48)	:			\$166.25	\$166.25	\$280.00	\$280.00	\$276.50	\$276.50	\$527.07	\$31,469.41	\$1,195.95	\$32,855.10

No award Line 48

Notes: Avery Dennison - Line 46 and 47 - Avery Dennison W-6000

Eagle Barricade - Line 46 and 47 - (Twice the length 100 yards) 3M Reflective Sheeting (Rolls Only) Super Engineering Grade

Eagle Barricade - Line 49 - 8 Foot I-Beam Rail for A Frame Barricade, Sleeted with Engineering Grade Sheeting on (2) sides.

Eagle Barricade - Line 50 - High Impact All Plastic Type II Barricade with (2) HIP 12"x 24" Plastic Top Panels, (2) HIP 8"x 24" Plastic Bottom Panels.

Eagle Barricade - Line 51 - Type II Barricade with Galvanized Metal Legs, 8" x 24" Plastic Top & Bottom HIP Panels.

Eagle Barricade - Line 52 and 53 - "A-Cade" Leg, Blow Molded Plastic Barricade Leg for I-Beam Rails

Eagle Barricade - Line 54 - Economy Type III Barricade with Rolled Steel Uprights & Feet, 10 Foot Plastic Rails. Sheeted on (2) sides with HIP Sheeting.

Eagle Barricade - Line 55 - 28" Enviro Cone with (1) 6" & (1) 4" Reflective Collars, 7#.

Eagle Barricade - Line 56 - Low Density Channelizer Drum with (4) 4" HIP Sheeting Bands and 25# Rubber Base.

				US Standard	US Standard Sign (Mandel		ide Industries	AVERY	DENNISON	Osburn Ass	ociates Inc	Vulcan Inc., dba Vulcan		Eagle B	arricade, LLC
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
50	SECTION 10 - SIGN INSTALLATION TOOLS, HARDWARE AND POSTS: Hex														
58	HED flanged bolts, 5/16 Diameter x 1 3/4	3200	each	No Bid		No Bid		No Bid		\$0.26	\$832.00	\$0.30	\$960.00	No Bid	
59	SECTION 10 - SIGN INSTALLATION TOOLS, HARDWARE AND POSTS: I.D.														
59	hex head flanged nuts, 5/16 Diameter	6400	each	No Bid		No Bid		No Bid		\$0.06	\$384.00	\$0.10	\$640.00	No Bid	
60	SECTION 10 - SIGN INSTALLATION TOOLS, HARDWARE AND POSTS: I.D.														
00	Tufbolt, 5/16" x 3"	2000	each	No Bid		No Bid		No Bid		\$0.49	\$980.00	\$0.75	\$1,500.00	No Bid	
61	SECTION 10 - SIGN INSTALLATION TOOLS, HARDWARE AND POSTS: Sign														
01	Post with Base Post	200	each	No Bid		No Bid		No Bid		No Bid		\$43.31	\$8,662.00	No Bid	
62	SECTION 10 - SIGN INSTALLATION TOOLS, HARDWARE AND POSTS: Sign														
02	Brackets	200	each	No Bid		No Bid		No Bid		\$7.25	\$1,450.00	\$3.95	\$790.00	No Bid	
63	SECTION 10 - SIGN INSTALLATION TOOLS, HARDWARE AND POSTS:														
05	Opposite Slot Brackets	200	each	No Bid		No Bid		No Bid		\$7.25	\$1,450.00	\$3.95	\$790.00	No Bid	
64	SECTION 10 - SIGN INSTALLATION TOOLS, HARDWARE AND POSTS: Sign														
04	Cross Brackets	200	each	No Bid		No Bid		No Bid		\$7.25	\$1,450.00	\$4.25	\$850.00	No Bid	
	SECTION 10 - SIGN INSTALLATION TOOLS, HARDWARE AND POSTS:														
65	Percent off on any similar items required by Collin County not														
	specifically addressed in SECTION 10.	1		No Bid		No Bid		No Bid		0		No Bid)
	SECTION 10 TOTAL	.:								\$22.56	\$6,546.00	\$56.61	\$14,192.00		
			1				ide Industries		DENNISON	Osburn Associates Inc		Vulcan Inc., dba Vulcan		•	arricade, LLC
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
66	SECTION 11 - PAVEMENT MARKERS: Reflective pavement markers, 1-														
	way	1	each	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	

67	SECTION 11 - PAVEMENT MARKERS: Reflective pavement markers, 2- way	1	each	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	
68	SECTION 11 - PAVEMENT MARKERS: Non-Reflective ceramic pavement markers	1	each	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	
69	SECTION 11 - PAVEMENT MARKERS: Reflective ceramic pavement markers, 1-way	1	each	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	
70	SECTION 11 - PAVEMENT MARKERS: Dimensions of 6 in. square x 3/4 in. height (jiggle bar) Yellow	1	each	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	
71	SECTION 11 - PAVEMENT MARKERS: Epoxy Base Resin, pavement marker adhesive, 1 Gal container	1	gallon	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	
72	SECTION 11 - PAVEMENT MARKERS: Activator Curling Agent, pavement marker adhesive, 1 Gal container	1	each	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	
73	SECTION 11 - PAVEMENT MARKERS: Percentage off on any similar items required by Collin County not specifically addressed in SECTION 11	5		No Bid		No Bid		No Bid		0		No Bid		0	
	SECTION 11: NO AWARD	Ţ		NO BIU		NO BIU		INO BIU		0		NO BIU		0	
			1		l Sign (Mandel	Nippon Carb			DENNISON	Osburn Ass			dba Vulcan	Eagle Barr	
Line #		QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
74	SECTION 12 - MAIL BOX POSTS AND MOUNTING HARDWARE: Single					No Did									
	Mounted Mailbox with post and mounting hardware SECTION 12 - MAIL BOX POSTS AND MOUNTING HARDWARE: Double	1	each	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	
75	Mounted Mailbox with post and mounting hardware	1	each	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	
	SECTION 12 - MAIL BOX POSTS AND MOUNTING HARDWARE: Multiple	Ŧ	each	NO BIU		NO BIU		NO BIU		NO BIU		NO BIU		NO BIU	
76	Mounted Mailbox with post and mounting hardware	1	each	No Bid		No Bid		No Bid		No Bid		No Bid		No Bid	
	SECTION 12 - MAIL BOX POSTS AND MOUNTING HARDWARE:														
77	Percentage off on any similar items required by Collin County not														
	specifically addressed in SECTION 12.	1		No Bid		No Bid		No Bid		0		No Bid		0	
	SECTION 12: NO AWARD														
				US Standard	l Sign (Mandel	Nippon Carbi	ide Industries	AVERY DENNISON		Osburn Associates Inc		Vulcan Inc., dba Vulcan		Eagle Barr	icade. LLC
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
70	SECTION 13 - SIGN SHEETING: 3M High Intensity Prismatic Reflective				•				•						
78	Sheeting Series 3930 - 36" x 50 yards (various colors)	20	roll	No Bid		**		**		\$544.50	\$10,890.00	\$544.50	\$10,890.00	\$983.00	\$19,660.00
79	SECTION 13 - SIGN SHEETING: 3M High Intensity Prismatic Reflective					**								4	
	Sheeting Series 3930 - 48" x 50 yards (various colors)	20	roll	No Bid		**		**		\$726.00	\$14,520.00	\$726.00	\$14,520.00	\$1,309.50	\$26,190.00
80	SECTION 13 - SIGN SHEETING: 3M Advanced Engineer Grade Prismatic Sheeting Series 7930 - 36" x 50 yards (various colors)	20	roll	No Bid		No Bid		**		\$346.50	\$6,930.00	\$319.50	\$6,390.00	No Bid	
	SECTION 13 - SIGN SHEETING: 3M Advanced Engineer Grade Prismatic	20	1011	NO BIG		NO BIU				\$540.50	Ş0,550.00	Ç31 <u></u> 3.50	<i>40,330.00</i>		
81	Sheeting Series 7930 - 48" x 50 yards (various colors)	20	roll	No Bid		No Bid		**		\$462.00	\$9,240.00	\$426.00	\$8,520.00	No Bid	
82	SECTION 13 - SIGN SHEETING: 3M Diamond Grade VIP Fluorescent														
02	Reflective Sheeting Series 3980 - 36" x 50 yards (various colors)	20	roll	No Bid		No Bid		**		\$1,107.00	\$22,140.00	\$1,089.00	\$21,780.00	\$1,579.50	\$31,590.00
83	SECTION 13 - SIGN SHEETING: 3M Diamond Grade VIP Fluorescent	20	roll	No Did		No Did		**		¢1.470.00	620 F20 00	61 4F2 00	¢20.040.00	No Did	
	Reflective Sheeting Series 3980 - 48" x 50 yards (various colors) SECTION 13 - SIGN SHEETING: 3M ElectroCut Graphic Film Series 7725 -	20	roll	No Bid		No Bid		**		\$1,476.00	\$29,520.00	\$1,452.00	\$29,040.00	NO BIO	
84	36" x 50 yards (various colors)	20	roll	No Bid		**		**		\$503.51	\$10,070.20	\$477.00	\$9,540.00	No Bid	

85	SECTION 13 - SIGN SHEETING: 3M ElectroCut Graphic Film Series 7725 -											
85	48" x 50 yards (various colors)	20	roll	No Bid	**	**	\$671.34	\$13,426.80	\$636.00	\$12,720.00	No Bid	
86	SECTION 13 - SIGN SHEETING: 3M ElectroCut Film Series 1170C - 36" x											
80	50 yards (various colors)	20	roll	No Bid	**	**	\$432.00	\$8,640.00	\$427.50	\$8,550.00	No Bid	
87	SECTION 13 - SIGN SHEETING: 3M ElectroCut Film Series 1170C - 48" x											
07	50 yards (various colors)	20	roll	No Bid	**	**	\$576.00	\$11,520.00	\$570.00	\$11,400.00	No Bid	
88	SECTION 13 - SIGN SHEETING: 3M Engineer Grade Reflective Sheeting											
00	Series 3200 - 36" x 50 yards (various colors)	20	roll	No Bid	**	**	\$396.00	\$7,920.00	\$409.50	\$8,190.00	No Bid	
89	SECTION 13 - SIGN SHEETING: 3M Engineer Grade Reflective Sheeting											
85	Series 3200 - 48" x 50 yards (various colors)	20	roll	No Bid	**	**	\$528.00	\$10,560.00	\$546.00	\$10,920.00	No Bid	
90	SECTION 13 - SIGN SHEETING: 3M Scotchlite Reflective Graphic Film											
90	Series 680 - 36" x 50 yards (various colors)	10	roll	No Bid	**	**	\$1,696.61	\$16,966.10	\$369.00	\$3,690.00	No Bid	
91	SECTION 13 - SIGN SHEETING: 3M Scotchlite Reflective Graphic Film											
51	Series 680 - 6" x 50 yards (various colors)	10	roll	No Bid	**	<u>**</u>	\$706.92	\$7,069.20	\$492.00	\$4,920.00	No Bid	
02	SECTION 13 - SIGN SHEETING: 3M Percent off on any similar items											
92	required by Collin County not specifically addressed in SECTION 13.	1		No Bid	No Bid	**	0		No Bid		0	
							¢10 172 20	\$170 A12 20	CO 101 00	¢161 070 00	¢2 972 00 ¢77 /	40.00

SECTION 13 TOTAL:

\$10,172.38 \$179,412.30 **\$8,484.00 \$161,070.00** \$3,872.00 \$77,440.00

* Eagle Barricade, LLC - Not available for cooperative contracts if awarded

** The item bid did not meet specifications